DB-Killer N°32B
Co0d.307762801

Cod.204321

Aluminium spacer
SBK SBK @27X8.5

llen screw
M6X20 T.C.E.Il. Z.B.
Co0d.203508

Allen screw
M8X25 T.C.E.I.
Co0d.200314

Z.B.

Medium silencer

LV ONE CARBONIO @i 50

Co0d.308403471

Art. 14117

DUCATI SCRAMBLER 800 ('15)

Short helical spring
tensile
Cod.204387

Short tube in
silicon rubber

Cod.204412

Grower @5 Cod.202286

Allen screw Mé6X8 T.C.E.l. INOX
Cod. 200834

Rubber cap
Co0d.204790

Inox bracket
Cod.0814115001

Plain washer 6x18
Cod.200254

Knurled collar nut M6
@  Cod.200333

Knurled collar nut M8
Cod.200298

Plain washer 8x24
Co0d.200321

Carbon bracket FM4S
Cod.307572505

Pipe N° 1068
Cod.3014116201

Slip-on "LV ONE MEDIO" -CARBONIO- Passaggio STANDARD
OMOLOGATO "EVOLUTION 11"



	Model
	Vista del disegno12
	Vista del disegno14


